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Child Development & Pedagogy 
 

 

1. Which of the following barriers 

refers to the problem and decoding 

of a message into words or             

impressions ? 
(A) Psychological barrier  

(B) Semantic barrier 

(C) Personal barrier(D) None of these 

2. Which of the following thinking is 

used to generate multiple solutions 

or ideas for the problem ? 

(A) Convergent thinking   

(B) Perceptual thinking 

(C) Divergent thinking    

(D) Conceptual thinking 

3. Intellectual disability is the deficit in 

................. 

(A) Intellectual functioning   

(B) Adaptive Behavior 

(C) Reading and writing only   

(D) Both A and B 

4. The disorder which reflects compro-

mised development in social functi-

oning and communication is: 

(A) Dysgraphia (B) Dyslexia 

(C) Autism  (D) Dysphasia 

5. Lecture method is useful because: 

(A) Students can give their opinion 

after completion of a chapter  

(B) In this method a large amount of 

in formation can be provided to 

learner in a short period of time 

(C) This method is the best method 

to teach primary students   

(D) It is useful to maintain discipline 

in class. 

6. Accarding to the principale of 

cephalocaudal development, develo-

pment proceeds from.......... 

(A) Head to toe 

(B) Known to unknown 

(C) Near to far    

(D) Simple to complex 

Ckky fodkl ,oa f'k{kk 'kkL= 

1- fuEufyf[kr esa ls dkSu lh ck/kk 'kCnksa ;k 

fpUgksa ds lans'k esa ,UdksfMax vkSj fMdksfMax dh 

izfØ;k esa ck/kk ;k leL;k dks lanfHkZr djrh 

gS\ 

(A) euksoSKkfud ck/kk (B) 'kCnkFkZ ck/kk 

(C) O;fDrxr ck/kk (D) buesa ls dksbZ ugha 

2- fuEu esa ls fdl fparu dk mi;ksx leL;k ds 

fy, dbZ lek/kku ;k fopkj mRiUu djus ds 

fy, fd;k tkrk gS\ 

(A) ,dkxz fparu     

(B) vo/kkj.kkRed fparu 

(C) vilkjh fparu (D) oSpkfjd fparu 

3- ckSf)d fodykaxrk-------------esa deh gS 

(A) ckSf)d dk;Z   

(B) vuqdwfyr O;ogkj 

(C) dsoy iBu vkSj ys[ku 

(D) A vkSj B nksuksa 

4- og fodkj tks lkekftd dk;Z vkSj lapkj esa 

e/;ekxZ fodkl  dks n'kkZrk gSA 

(A) fMLxzkfQ;k  (B) fMLysfDl;k 

(C) Loyhuyk  (D) fMLQsfl;k 

5- O;k[;ku fof/k mi;ksxh gS D;ksafd%& 

(A) v/;k; iwjk gksus ds ckn Nk= viuh jk; 

ns ldrs gSa    

(B) bl i)fr esa f'k{kkFkhZ dks de le; esa 

cM+h ek=k esa tkudkjh iznku dh tk 

ldrh gS 

(C) izkFkfed Nk=ksa dks i<+kus ds fy, ;g 

rjhdk lcls vPNk rjhdk gS    

(D) d{kk esa vuq'kklu cuk, j[kus ds fy, 

;g mi;ksxh gS 

6- lsQyksdkSMy fodkl ds fl)kUr ds vuqlkj] 

fodkl --------------rd gksrk gSA 

(A) flj ls iSj   

(B) Kkr ls vKkr 

(C) ikl ls nwj   

(D) ljy ls tfVy 
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7. Which of the following statement is 

incorrect about brainstorming ? 

(A) This techniqve is given by osborn. 

(B) It is useful to find a conclusion for 

a    problem 

(C) It is a less effective technique to 

generate ideas in a group setting  

(D) Both A and B 

8. The term 'adolescere' from which 

adolescence word is driven means : 

(A) To play        (B) To become adult 

(C) To grow into maturity   

(D) To demonstrate 

9. Vygotsky's theory is based on 

................ 

(A) Cultural values(B) Moral values 

(C) Intelligence (D) Thinking 

10. Which of the following helps a 

person to develop in the desired 

direction and orients him/her 

according to the needs and demands 

of changing times and society. 

(A) Accommodation(B) Interview 

(C) Guidance(D) Cumulative Record 

11. Which type of questions encourage 

divergent thinking ? 

(A) Close-ended questions   

(B) Open-ended questions 

(C) Probing questions    

(D) Leading questions 

12. Micro-teaching helps to build............ 

(A) Intelligence  

(B) Stronger teaching skills 

(C) Physical skills (D) Trust 

13. Comprehension refers to. 

(A) The process of extracting mean-

ing from a sequence of words.  

(B)  The process of translating a 

language 

(C) The process of using previous 

knowledge to create new 

knowledge  

(D) Both A and B 

7- fuEu esa ls dkSu lk dFku fopkjos'k ds lanHkZ 

esa xyr gS\ 

(A) ;g rduhd vkslcksuZ }kjk nh xbZ gS  

(B) ;g fdlh leL;k dk fu"d"kZ fudkyus ds 

fy, mi;ksxh gS 

(C) lewg O;oLFkk esa fopkjksa dks mRiUu djus 

ds fy, ;g ,d de izHkkoh rduhd gS  

(D) A vkSj B nksuksa 

8- 'kCn 'adolescere'  ftlls fd'kksjkoLFkk 'kCn 
mRiUu gqvk gS] mldk vFkZ gS% 

(A) [ksyuk  (B) o;Ld cuuk 
(C) ifjiDork dh vksj c<+uk   

(D) iznf'kZr djuk 
9- ok;xksRldh dk fl)kUr--------ij vk/kkfjr gS% 

(A) lkaLd`frd ewY; (B) uSfrd ewY; 
(C) cqf)eRrk  (D) fparu 

10- fuEu esa ls dkSu lk fdlh O;fDr dks okafNr 
fn'kk esa fodflr djus esa enn djrk gS vkSj 

cnyrs lekt ,oa lekt dh vko';drkvksa ,oa 

ekaxksa ds vuqlkj mlds fy, dk;Z djrk gsS\ 

(A) lek;kstu  (B) lk{kkRdkj 
(C) ekxZn'kZu  (D) lap;h fjdkWMZ 

11- fdl izdkj ds iz'u ls vilkjh lksp dks 

c<+kok feyrk gS\ 

(A) lhfer mÙkj okys iz'u   

(B) foLr`r mÙkj okys iz'u 
(C) tkap okys iz'u (D) vxz.kh iz'u  

12- lw{e f'k{k.k------------ds fuekZ.k esa enn 

djrk gS 

(A) cqf)eÙkk    (B) etcwr f'k{k.k dkS'ky 
(C) 'kkjhfjd dkS'ky (D) fo'okkl  

13- cks/k dk rkRi;Z gS% 
(A) 'kCnksa ds vuqØe ls vFkZ fudkyus dh 

izfØ;k   

(B) fdlh Hkk"kk ds vuqokn dh izfØ;k 

(C) u, Kku dks vftZr djus ds fy, fiNys 

Kku dk mi;ksx djus ds izfØ;k   

(D) A vkSj B nksuksa  
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14. Which of the following is considered 

as the first school of thought in 

psychology ? 

(A) Gastaltism (B) Humanism 

(C) Structuralism (D) Functionalism 

15. Kindergarten method of teaching 

was given by: 
(A) Maria Montessori (B) Ivan Pavlov 

(C) John Dewey     (D) Frobel 

16. ................. is the projective test 

consisting of a series of pictures in 

which the examinee is requested to 

create a story about the picture.  

(A) Raven's test    

(B) Thematic appreciation test 

(C) Differential ability scale   

(D) Wechsler Individual Achievement test 

17. Maslow believed that our needs are 

arranged in a hierarchy, which of the 

following is the highest need 

according to Maslow ? 

(A) Self-esteem needs    

(B) Self-actualization needs 

(C) Love and belongingness needs   

(D) Physiological needs 

18. The memory which is considered a 

form of implicit memory is: 

(A) Short-term memory   

(B) Procedural memory 

(C) Semantic memory    

(D) Declarative memory 

19. The process that is used to determine 

the extent to which the objectives are 

achieved is known as. 

(A) Assimilation (B) Equilibrium 

(C) Evaluation (D) Internalization 
20. Which of the following is not a domain 

of learning given by B.S. Bloom ? 

(A) Cognitive (B) Affective 

(C) Psychomotor (D) Psychosocial 
21. According to the school of Empiricism, 

Knowledge comes only from. 

(A)Sensory experience(B) Cramming 

(C) Nature    (D) Both A and C 

14- fuEu esa ls fdls euksfoKku esa fopkj dh izFke 
ikB'kkyk ekuk tkrk gS\ 

(A) xsLVkYVokn  (B) ekuorkokn 
(C) lajpukokn  (D) fØ;kRedrk 

15- f'k{k.k dh fdaMjxkVZu fof/k -------------- 

}kjk izLrqr dh xbZ Fkh% 

(A) ekfj;k eksaVsljh (B) boku ikoykso 
(C) tkWu Mhoh  (D) Ýkscsy 

16- --------fp=ksa dh ,d J`a[kyk ls feydj cuk ,d 
iz{ksI; ijh{k.k gS ftlesa ijh{kkFkhZ ls fp= ds lanHkZ 

esa dgkuh cukus dk vuqjks/k fd;k tkrk gSA  

(A) jkosu dk ijh{k.k  
(B) dF;ijd iz'kalk ijh{k.k  
(C) foHksnd {kerk iSekus    

(D) ohDLyj O;fDrxr miyfC/k ijh{k.k 
17- ekLyks dk ekuuk Fkk fd gekjh vko';drkvksa 

dks ,d inkuqØe esa O;ofLFkr fd;k tkrk gS] 

ekLyks ds vuqlkj fuEu esa ls fdldh lcls 

vf/kd vko';drk gS\  

(A) LokfHkeku dh vko';drk    

(B) vkRe&izkfIr dh vko';drk 

(C) I;kj vkSj viusiu dh vko'o;drk  

(D) 'kkjhfjd vko';drk,a 

18- Le`fr ftls varfuZfgr Le`fr dk ,d :i ekuk tkrk gS% 

(A) vYidkfyr Le`fr (B) izfØ;kRed Le`fr 

(C) 'kCnkFkZ Le`fr (D) ?kks"k.kkRed Le`fr 

19- og izfØ;k ftldk mi;ksx mís';ksa dks izkIr 

djus dh lhek dks fu/kkZfjr djus ds fy, 

fd;k tkrk gS] mls bl :i esa tkuk tkrk gS% 

(A) vkRelkRdj.k (B) lkE;koLFkk 

(C) ewY;kadu  (D) vkarfjddj.k 

20- fuEu esa ls dkSu lk ch-,l-Cywe }kjk iznku 
fd;k x;k vf/kxe dk {ks= ugh gS\ 

(A) laKkukRed  (B) HkkoukRed 

(C) euksizsj.kk  (D) eukslkekftd 

21- vuqHkookn ds Ldwy ds vuqlkj] Kku dsoy---

------ ls izkIr gksrk gS% 

(A) laosfnd vuqHko (B) jVuk 

(C) izd`fr  (D) A vkSj C nksuksa 
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22. Which of the following is not a 

characteristic of creative children ? 

(A) Imaginative power    

(B) Good reasoning abilities 

(C) Interest in art and painting  

(D) Introversion. 

23. 'Braille' is associated with 'Visual 

impair-ment' in the same way 'Sign 

language' is associated with: 

(A)Spasticity(B) Hearing impairment 

(C) Intellectual disability   

(D) Muscular dystrophy 

24. Which of the following method is used 

to diagnose the behavioural problem of 

exceptional children ? 

(A) Case study method 

(B) Survey method 

(C) Observation method 

(D) Experimental method 

25. Who was the propounder of multiple 

intelligence 

(A) Howard Gardner(B) Alfred Binet 

(C) E.L. Thorndike(D) J.P. Guilford 

26. Which of the following's role 

emphasized by Vygotsky is signifi-cant 

in learning process of children ? 

(A) Morality (B) Hereditary 

(C) Society  (D) Physical 

27. Who believed classroom learning 

should take place inductively ? 

(A) Vygotsky (B) Piaget 

(C) Jerome Bruner(D) Thorndike 

28. Which of the following is not related to 

probtem solving ? 

(A) Entrenchment(B) Mental sets 

(C) Fixation (D) Insight 

29. Which of the following is a solution to 

tackle and avoid failure - 

(A) Skill development 

(B) Various tests 

(C) Strict parenting(D) All of the above 

30. A type of thinking which is associated 

with reality is known as: 

(A) Autistic thinking 

(B) Realistic thinking 

(C) Perception   (D) Imaginary thoughts 

22- fuEu esa ls dkSu lh l`tukRed cPpksa dh 

fo'ks"krk ugha gS\ 

(A) dYiuk 'kfDr   (B) csgrj rkfdZd {kerk 

(C) dyk ,oa fp=dyk esa :fp 

(D) vareqZ[krk 

23- ^czsy* ;fn ^n`'; {kh.krk* ls lacaf/kr gS rks 

^lkadsfrd Hkk"kk* fdlls lacaf/kr gS\ 

(A) dkfBU;   (B) Jo.k nks"k 

(C) ckSf)d fodykaxrk (D) eaklis'kh; nqfoZdkl 

24- vlk/kkj.k cPpksa dh O;ogkj leL;k dk funku 

djus ds fy, fuEu esa ls fdl i)fr dk 

mi;ksx fd;k tkrk gS\ 

(A) dsl LVMh fof/k (B) losZ{k.k fof/k 

(C) voyksdu fof/k (D) iz;ksxkRed fof/k 

25- cgq&cqf) fl)kUr ds izorZd dkSu Fks\ 

(A) gkWoMZ xkMZuj (B) vYQsM fcus 

(C) bZ-,y- FkkWuZMkbd (D) ts-ih- fxYQksM 

26- cPpksa dh vf/kxe dh izfØ;k esa okbxksRldh 

}kjk fuEufyf[kr esa ls fdldh Hkwfedk 

egRoiw.kZ gS\ 

(A) uSfrdrk  (B) oa'kkuqxr 

(C) lekt  (D) 'kkjhfjd 

27- fdldk ekuuk Fkk fd d{kk esa vf/kxe dks 

vkxeukRed :i ls fy;k tkuk pkfg, \ 

(A) ok;xksRldh  (B) fi;kts 

(C) tsjkse czwuj  (D) FkkWuZMkbd 

28- fuEu esa ls dkSu leL;k&lek/kku ls lacaf/kr 
ugha gS\ 

(A) n`<+ fLFkfr  (B) ekufld O;oLFkk 

(C) fu/kkZj.k  (D) varn`Zf"V 

29- fuEu esa ls D;k vlQyrk dk lkeuk djus 

vkSj mlls cPkus dk ,d mik; gS& 

(A) dkS'ky fodkl (B) fofHkUu ijh{k.k 

(C) l[r ijofj'k (D) mijksDr lHkh 

30- ,d izdkj dk fparu tks okLrfodrk ls 

lacaf/kr gS ------------- dgykrk gSA 

(A) Loyhu fparu (B) ;FkkFkZoknh fparu 

(C) vuqHkwfr  (D) dkYifud fopkj 
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Hkk"kk – I fgUnh 

funsZ'k & ¼iz'u 31&39 rd½ % uhps fn, x, x|ka'k 

dks i<+dj iwNs x, iz'uksa ds lcls mi;qDr mÙkj 

okys fodYi dks pqfu,& 

 

x|ka'k 

 

 vk/kqfud f'k{kk dk urhtk geus ns[k fy;kA 

geus ml f'k{kk dk urhtk Hkh ns[k fy;k] ftlesa 

^fodflr foKku* dk lcls egRoiw.kZ LFkku gS] 

ftlds dkj.k O;fDr dks dgha Hkh ;k fdruk Hkh 

feyus ds ckotwn r`fIr ugha gksrhA bldk dkj.k ;g 

gS fd f'k{kk ds LokHkkfod vkSj vko';d vaxksa dks 

NksM+dj geus ,sls fo"k;ksa ij vf/kd /;ku fn;k] tks 

euq"; dk ,drjQk fodkl djrs gSa] ftuds dkj.k 

O;fDrRo dk cM+s&ls&cM+k Hkkx vr`Ir jg tkrk gSA 

ckY;koLFkk esa Hkh dyk&f'k{kk dks vHkh rd mfpr 

LFkku ugha feyk gSA tgk¡ feyrk Hkh gS] ogk¡ cPpk 

X;kjg&ckjg o"kZ dk gksrs gh mlds f'k{kk&Øe esa ls 

dyk&izo`fÙk;ksa dks fudky fn;k tkrk gSA ,slk gh 

gcZVZ jhM us dgk gS& 

 ^^gekjk vuqHko gesa crkrk gS fd gj O;fDr 

X;kjg lky dh mez ds ckn] fd'kksj&voLFkk vkSj 

mlds ckn Hkh lkjs thou&dky rd fdlh&u&fdlh 

dyk&izo`fÙk dks vius Hkko&izdVu dk tfj;k cuk;s 

j[k ldrk gSA vkt ds lHkh fo"k;&ftu ij ge 

viuh ,dek= J)k djrs gSa] tSls xf.kr] Hkwxksy] 

bfrgkl] jlk;u'kkL= vkSj ;gk¡ rd fd lkfgR; 

Hkh&ftl rjg i<+k;s tkrs gSa] mu lcdh cqfu;kn 

rkfdZd gSA bu ij ,dek= tksj nsus ds dkj.k 

dyk& izo`fÙk;k¡] tks Hkkouk&iz/kku gksrh gSa] ikB~;Øe 

ls djhc&djhc fudy tkrh gSaA ;s izo`fÙk;k¡ dsoy 

ikB~;Øe ls gh ugha fudy tkrha] cfYd bu 

rkfdZd fo"k;ksa dks egÙo nsus ds dkj.k O;fDr ds 

fnekx ls Hkh fcydqy fudy tkrh gSaA fd'kksj 

voLFkk esa bl rjg xyr jkLrs ij ys tkus dk 

urhtk Hk;kud gks jgk gSA lH;rk jkst&c&jkst 

cs<c gksrh tk jgh gSA O;fDr dk xyr fodkl gks 

jgk gSA mldk ekul vLoLFk gS] ifjokj nq[kh gSA 

lekt esa QwV iM+h gS vkSj nqfu;k ij /oal djus 

dk Toj p<+k gSA bu Hk;kud voLFkkvksa dks gekjk 

Kku&foKku lgkjk ns gk gSA vkt dh rkyhe Hkh 

blh nkSM+ esa lkFk ns jgh gSA**  

31- vuqPNsn ds vk/kkj ij gesa fdl ij lokZf/kd 

/;ku nsus dh t:jr gS\ 

(A) foKku ij  (B) dyk izo`fÙk ij  

(C) fd'kksjkoLFkk ij (D) ckY;koLFkk ij   

32- vuqPNsn ds vuqlkj xf.kr] Hkwxksy] bfrgkl 

vkfn fo"k;& 

(A) rdZ iz/kku gSa (B) Hkko iz/kku gSa  

(C) dyk iz/kku gSa (D) cks/k iz/kku gSa   

33- Kku&foKku dks cgqr vf/kd egRo nsus ds 

dkj.k& 

(A) lekt mUufr dj jgk gS   

(B) lekt esa foHkktu gks jgk gS  

(C) O;fDr l`tu dh jkg ij gS   

(D) O;fDr fo/oal dh jkg ij ugha gS   

34- fd'kksjkoLFkk rkfdZdrk dh iz/kkurk vkSj Hkko 

ds vHkko esa---------------dk jkLrk viuk 

jgh gSA 

(A) iru  (B) Kku  

(C) izxfr  (D) deZ   

35- buesa ls dkSu&lk 'kCn lewg ls fHkUu gS\ 
(A) rkfdZd  (B) LokHkkfod  

(C) lkfgfR;d  (D) vfHkO;fDr   

36- ^vkt dh rkyhe Hkh blh nkSM+ esa lkFk ns jgh 

gSA* okD; esa fuikr gS& 

(A) vkt  (B) Hkh  

(C) bl   (D) esa   

37- ^fodflr* 'kCn esa izR;; gS& 
(A) flr   (B) br  

(C) r   (D) lr   

38- vuqPNsn ds vk/kkj ij dgk tk ldrk gS fd 

vk/kqfud f'k{kk dk urhtk& 

(A) lq[kn gS  (B) nq%[kn gS  

(C) vkSlr gS  (D) irk ugha   
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39- vk/kqfud f'k{kk esa fdl fo"k; dks lcls 

vf/kd egÙo fn;k tkrk gS\ 

(A) dyk dks  (B) Hkk"kk dks  

(C) foKku dks  (D) bfrgkl dks   

 funsZ'k&¼iz'u 40&45½% fuEufyf[kr dkO;ka'k 

dks i<+dj iwNs x, iz'uksa ds lcls mi;qDr mÙkj 

okys fodYi pqfu,& 
 

dkO;ka'k 

  

 ns'kokfl;ksa lquks ns'k dks ueu djks 

 ns'k gh vk/kkj gS] I;kj ns'k ls djksA 

 yM+ jgs gks vkt D;ksa NksVh&NksVh ckr ij] 

 ns'k fgr dks Hkwydj izkUr] Hkk"kk] tkr ij]  

 feVk ds HksnHkko dks] ns'k dks lqn`<+ djksA 

 Hkz"Vkpkj dh ygj mB jgh uxj&uxj] 

 ?kksj va/kdkj esa lw>rh ugha Mxj]  

 T;ksfr uhfr&/keZ dh vkt rqe iz[kj djksA 

 ns'k vkt jks jgk] ns'k dk #nu lquksA 

 ck¡V nnZ ns'k dk] fe= ns'k ds cuks 

 izse ds ih;w"k ls] }s"k dk 'keu djksA 

40- ^ih;w"k* dk foykse 'kCn gS& 
(A) ve`r (B) fo"k  (C) {khj (D) uhj   

41- ^Hkz"Vkpkj* dk lfU/k&foPNsn gS& 
(A) Hkz"V $ vkpkj (B) Hkz"V $ vpkj  

(C) Hkz"Vk $ pkj (D) Hkz"V $ pkj   

42- dfork ds vuqlkj ns'k dks lqn`<+ fd;k tk 

ldrk gS& 

(A) ns'k dks ueu djds    

(B) ns'kHkfDr ds xhr xkdj  

(C) ns'k fgr dks Hkwydj    

(D) leLr HksnHkko nwj djds    

43- dfork esa uhfr&/keZ dh T;ksfr iz[kj djus ds 
fy, dgk x;k gS] rkfd& 

(A) vkilh HksnHkko nwj fd;k tk lds   

(B) Hkz"Vkpkj dks nwj fd;k tk lds  

(C) ns'k dks izse fd;k tk lds    

(D) ns'k dk nnZ ck¡Vk tk lds    

44- ^ns'k vkt jks jgk gSA* iafDr dk vk'k; gS& 

(A) ns'k ds ukxfjd jks jgs gSa    

(B) ns'k esa ck<+ vkbZ gS  

(C) ns'k esa 'kkfUr dk okrkoj.k gS   

(D) ns'k esa v'kkfUr dk okrkoj.k gS   

45- }s"k dk 'keu fd;k tk ldrk gS& 
(A) /keZ }kjk  (B) 'kklu }kjk  

(C) izse }kjk  (D) uhfr }kjk   

46- mipkjkRed f'k{k.k dk mís'; gS& 
(A) Nk=ksa dh izkjafHkd =qfV;ksa esa lq/kkj djukA 

(B) Nk=ksa dh Kku laca/kh =qfV;ksa dks nwj 

djukA  

(C) Nk=ksa esa vkRefo'okl txkukA   

(D) mijksDr lHkh    

47- ,d Hkk"kk&f'k{k.k ds fy, lokZf/kd egRoiw.kZ gS& 
(A) cPpksa dks Hkk"kk iz;ksx ds volj miyC/k 

djkukA    

(B) Hkk"kk dh =qfV;ksa ds izfr dBksj joS;k 

viukukA  

(C) Hkk"kk dh ikB~;&iqLrd    

(D) Hkk"kk dk vkdyuA   

48- fuEufyf[kr esa ls dkSu lk vkxeukRed 

f'k{k.k fof/k dk nks"k ugha gS\ 

(A)ikB~;Øe le; ls lekIr ugha gks ikrk gS 

(B) ;g ,d jkspd fof/k ugha gS  

(C) vf/kd le; esa de Kku izkIr gksrk gS  

(D) O;kdj.k f'k{k.k dh loZJs"B fof/k gSA   

49- izkFkfed Lrj ij cPps fdl rjg dh dfork,¡ 
vf/kd ilan djrs gSa\ 

(A) tks jksekap iSnk djrh gSaA    

(B) tks thou dh lPpkb;ksa ls ifjfpr djkrh gSa   

(C) tks uohu 'kCnksa ls ifjp;  djokrh gSa  

(D) tks fdlh izdkj dh f'k{kk nsrh gSaA   

50- pkWELdh ds vuqlkj dkSu&lk dFku lgh gS\ 

(A) cPpksa esa Hkk"kk lh[kus dh tUetkr {kerk 

gksrh gSA    

(B) cPpksa esa Hkk"kk lh[kus dh tUetkr {kerk 

ugha gksrhA  
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(C) cPpksa esa Hkk"kk lh[kus dh {kerk,¡ cgqr 

lhfer gksrh gSaA    

(D)  cPpksa dks O;kdj.k fl[kkuk t:jh gSA   

51- Hkk"kk dh d{kk esa eqfnzr le`) ifjos'k dSls 

jpk tk ldrk gS\ 

(A) fofo/k vkd"kZd iqLrdsa ltkdj   

(B) nhokjksa ij vkd"kZd iksLVj yxkdj  

(C) dgkuh] dfork ds iksLVj o cPpksa ds 

dkeksa dks d{kk esa iznf'kZr dj    

(D) nhokjksa ij lwfDr;k¡ ,oa mins'kkRed ckrsa 

fy[kdj    

52- ,d lekos'kh d{kk esa Hkk"kk&f'k{kd dks fdl 
fcUnq dk lcls vf/kd /;ku j[kuk pkfg, \ 

(A) lHkh cPpksa dks leku :i ls x`gdk;Z 

nsuk  

(B) lHkh cPpksa dks leku xfrfof/k esa 'kkfey 

gksus ds fy, 'kkfey u djuk  

(C) lHkh cPpksa ls leku vis{kk,¡ j[kuk  

(D) fofo/k izdkj dh n`';&JO; lkexzh dk 

mi;ksx djuk   

53- ukfljk i<+rs le; vusd ckj vVdrh gSA 

mls i<+us esa dfBukbZ gksrh gSA mldh leL;k 

eq[;r%------------ls lEcfU/kr gSA 

(A) iBu & v#fp (B) cqf) & yfC/k  

(C) fMLysfDl;k  (D) fMLxzkfQ;k   

54- Hkk"kk dkS'kyksa ds lanHkZ esa dkSu&lk dFku mfpr gSS\ 
(A) Hkk"kk dkS'kyksa ds fodkl esa vH;kl dh 

vis{kk Hkkf"kd fu;eksa dk Kku t:jh gSA 

(B) fo|ky; esa dsoy i<+uk] fy[kuk dkS'kyksa 

gh cy nsuk pkfg,  

(C) cPps dsoy lquuk] cksyuk] i<+uk fy[kuk 

Øe ls gh lh[krs gSaA    

(D) Hkk"kk ds pkjksa dkS'ky ijLij vUr% 

lEcfU/kr gSaA   

55- okpu@iBu lEcU/kh nks"kksa dk fuokj.k fd;k 
tkrk gS& 

(A) vko`fÙk iqujko`fÙk }kjk (B) Jqrys[k }kjk  

(C) iz'uksÙkj }kjk    (D) vkReizdk'ku }kjk   

56- -------------iz.kkyh esa v{kjksa dks rksM+dj mUgsa 

Nk=ksa dh enn ls okil tksM+dj o.kksZ dh 

jpuk fl[kkbZ tkrh gSA 

(A) isLVksykWth dk jpukRed iz.kkyh   

(B) ekaVsljh fof/k  

(C) lqys[k fof/k  (D) mijksDr esa ls dksbZ ugha   

57- ekSuiBu esa iBu dh xfr fdl izdkj dh gksrh gS\ 
(A) rhoz   (B) ean  

(C) e/;e  (D) ljy   

58- ,d rhu lky ds cPps ls fdlh Hkh ,sls fo"k; 
ij vPNh rjg ls ckrphr dh tk ldrh gS 

tks mlds ----------nk;js ds vanj vkrk gksA 

(A) laKkukRed  (B) HkkSxksfyd  

(C) fo|ky;h  (D) HkkoukRed   

59- ^fo'o dh lHkh Hkk"kk,¡ FkksM+s ls Qsjcny ls ,d 
gh fyfi esa fy[kh tk ldrh gSaA* ;g dFku&  

(A) vkaf'kd :i ls lR; gSA 

(B) iw.kZr% lR; ugha gSA  

(C) iw.kZr% lR; gSA (D) Hkzked gSA   

60- izR;sd cPps dh Hkk"kk --------------- gksrh gSA 
(A) tfVy  (B) ljy  

(C) le`)  (D) Hkkf"kd   
 

Language 2 (English) 
Directions – (Q.61 to 68) : Read the 

passage given below and answer the 

questions that follow by selecting the 

most appropriate option. 
 

PASSAGE 
 

 Freedom is one of the most 

important factors in life. Man has fought 

politically all over the world for freedom. 

Religions have promised freedom, not in 

this world but in another. In the capitalist 

countries, individual freedom exists to 

some degree, and in the communist world 

it has been denied. From ancient times, 

freedom has meant a great deal to man, 

and there have been its opponents, not 

only political but religious through 
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Inquisition, by excommunication, tortures 

and banishments, and the total denial of 

man's search for freedom. There have 

been wars and counter-wars fought for 

freedom. This has been the pattern of 

man's endeavours for freedom throughout 

history. 

 Freedom of selfexpression and 

freedom of speech and thought exist in 

some parts of the world, but in others it 

does not. Those who have been 

conditioned, revolt against their 

backgrounds. This reaction which takes 

different forms is called  'freedom'. The 

reaction to politics is often to shun the 

field of politics. 

 One economic reaction is to form 

small communities based on some 

ideology or under the leadership of one 

person, but these soon disintegrate. The 

religious reaction against established 

organisations of belief is to revolt, either 

by joining other religious organisations or 

by following some guru or leader or by 

joining some cult. Or one denies the 

whole religious endeavour. 

 One thinks of freedom only as 

freedom of movement, either physical or 

movements of thought. It appears that one 

always seeks freedom on the surface. 

Surely, this is rather a limited freedom, 

involving a great deal of conflict, wars 

and violence. 

 Inner freedom is something entirely 

different. It has its roots not in the idea of 

freedom but in the reality of freedom. If 

covers all the endeavours of man. Without 

inner freedom life will always be an 

activity within the limited circle of time 

and conflict. 

61. Which methods do authorities not 

use to suppress people fighting for 

freedom ? 

(A) Inquisition  

(B) Excommunication 

(C) Persuasion (D) Tortures  

62. Reaction against established religion 

prompts people not to - 

(A) Join other religious organisations  

(B) to start a new religion 

(C) follow some guru    

(D) join some cult 

63. Real freedom, according to the 

author, is - 

(A) economic freedom    

(B) inner freedom 

(C) political freedom    

(D) religious freedom 

64. Read the following sentences – 

A. Individual freedom does not exist 

at all in capitalist countries. 

B. People do not have individual 

freedom in communist countries. 
(A) A is false, B is true    

(B) A is true, B is false 

(C) Both A and B are true   

(D) Both A and B are false 

65. Which word is most similar in 

meaning to the word 'endeavours' 

as used in the passage ? (Para 1) 

(A) movements (B) attempts 

(C) actions  (D) challenges 

66. Which word is the most opposite in 

meaning to the word, 'Shun' as used 

in the passage ? (Para 2) 

(A) prefer  (B) rehabilitate 

(C) welcome (D) rejoice 

67. Which part of the following 

sentence contains an error ? 

There is no doubt (a) / that hard 

work (b)/ paves the way (c) / to 

success. (d) 

(A) (d)  (B) (a) 

(C) (b)  (D) (c) 

68. Which of the following statements 

is not true ? 
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(A) Man can enjoy life only in an 

environment of freedom.   

(B) Material progress cannot be 

achieved without freedom. 

(C) Freedom is not one of the most 

important factors in life.  

(D) Freedom helps man evolve 

morally and spiritually. 
 

Directions – (Q.69 to 75) : Read the 

passage given below carefully and answer 

the questions that follow by selecting the 

correct/most appropriate options. 
 

PASSAGE 
 There is something we all want to 

do, although few of us readily admit it : 

Get rid of guests. 

 For nine months in the year, only 

my closest friends come to see me. Then, 

when temperatures start soaring in the 

plains, longlost acquaintances suddenly 

remember that I exist and people whom I 

am barely able to recognise appear at the 

front door, willing to have me put them up 

for periods ranging from six days to six 

weeks. 

 Occasionally, I am the master of the 

situation. 

 The other day I received visitors 

who proved to be more thickskinned than 

most. The man was a friend of an 

acquaintance of mine. I had never seen 

him before. But on the strength of this 

distant relationship, he had brought his 

family along. 

 I tried the usual ploy but it didn't 

work. The man and his family were 

perfectly willing to share the floor with 

any others who might be staying with me. 

 So I made my next move. 'I must 

warn you about the scorpions'. I said. The 

scorpionscare is effective with most  

people. But I was dealing with  

peofessionals. The man set his son rolling 

up the carpet 'Sometimes centipedes fall 

from the ceiling'. I said desperately, 

 We were now interrupted by 

someone knocking on the front door. It 

was the postman with a rejected 

manuscript, his arrival inspired me to 

greater inventiveness. 

 I'm terribly sorry', I said, staring 

hard at a rejection slip. I am afraid I have 

to leave immediately. A paper wants me 

to interview the Maharishi. I hope you 

won't mind. Would you like the name of a 

good hotel ?' 

 'Oh, don't worry about us', said the 

woman expansively. 'We'll look after the 

house while you are away'.  

69. Which one of the following words is 

similar in meaning to the word, 

'readily' (Para 1) as used in the 

passage ? 

(A) efficiently (B) plainly 

(C) frankly  (D) easily 

70. Which one of the following words is 

opposite in meaning to the word, 

'soaring' (Para 2) as used in the 

passage ? 

(A) falling  (B) deteriorating 

(C) hovering (D) exasperating 

71. Which part of the following 

sentence contains an error ? 

Both Raghunath as well as Ravish 

(a)/have given (b)/ their consent (c)/ 

to the new proposal (d). 

(A) c   (B) b 

(C) d   (D) a 

72. Which of the following is true ? 

People who visit the author at the 

onset of the summer are - 

(A) people whom he hardly knows  

(B) his colleagues 

(C) his old school mates   

(D) his closest friends and relatives 
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73. Which one of the following ploys 

does the author not use to get rid of 

unwanted guests ? 

(A) There is acute water scarcity  

(B) He has already too many guests 

(C) The place is infested with 

scorpions  
(D) Centipedes fall from the ceiling 

74. Which of the following does not 

apply to the unwelcome guests ? 

(A) They are thick-skinned   

(B) They don't have enough money 

to   stay at a hotel 

(C) They are utterly shameless   

(D) They want to enjoy themselves 

at  the author's expense 

75. The postman delivered to the author  

(A) his rejected manuscript alpong-

with a rejection slip  

(B) a letter commissioning him to 

write a new novel 

(C) a letter inviting him to interview 

the Maharishi     

(D) his rejected manuscript along-

with a cheque 

76. An English teacher gives commands 

to students for various actions in the 

target language. Everybody mocks 

her and ask her to teach PT instead 

of English. What method is the 

teacher using in the given example ? 

(A) CLL  (B) TPR 

(C) Oral Approach(D) CLT 

77. Which of the following signifies 

highness or lowness of the sound ? 

(A) Intonation (B) Diction 

(C) Articulation (D) Pitch 

78. The art of writing correct word with 

respect to its spelling, usage, 

meaning, form, punctuation and 

sound is called.................... 

(A) Phonology (B) Morphology 

(C) Orthography(D) Literalography 

79. Which of the following is correct 

about dialects ? 

(A) They are influenced by region 

only.    

(B) They are influenced by social 

life only. 

(C) Sociolect is a dialect influenced 

more by social life.    

(D) None of the above. 

80. Which of the following is a trait of a 

good speaker ? 
(A) Use of facial expression and 

 gestures.    

(B) Ability to eliminate background 

 voices.  

(C) Both A and B (D) Neither A nor B 

81. Which of the following is an 

example of active listening ? 

(A) Comprehensive Listening   

(B) Critical Listening 

(C) Therapeutic Listening   

(D) All of the above 

82. J.K Rowling is writing a fiction 

book called "The lckabog". Identify 

the type of function of language 

used in the sentence. 

(A) Heuristic Function    

(B) Phatic Function 

(C) Representational Function  

(D) None of the above 

83. Which of the following is an 

example of language acquisition ? 

(A) An English speaking child 

learning Hindi at school.   

(B) A child learning mother tongue 

at school. 

(C) A person learning a second 

langu-age through neighbours 

and colleagues at office.   

(D) All of the above. 

84. Which of the following is used to 

get a general overview of the text ? 

(A) Scanning (B) Skimming 
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(C) Oral Reading  

(D) Library Reading 

85. The affix that is attached to end of a 

root word is called...................... 

(A) Prefix  (B) Suffix 

(C) Confix  (D) Malfix 

86. Which of the following are types of 

reading ? 

(A) Intensive reading    

(B) Extensive reading 

(C) Skimming   (D) All of the above 
87. Which of the following is not true 

about grammar ? 

(A) It helps learners to identify sounds 

of a language.   

(B) It helps develop fluency in the 

language. 

(C) There is no scope of miscommu-

nication with correct use of 

grammar.  

(D) There is no role of grammar in 

enabling a learner think clearly 

and logically. 

88. What term does Piaget use when he 

talks about self-talk in a child ? 

(A) Ego-centrism (B) Schema 

(C) Internalization(D) Assimilation 

89. The regulatory function of any 

language implies: 

(A) A language used to create an 

imaginary world    

(B) A language used to exchange 

imagination 

(C) A language used to express 

personal feelings    

(D) A language used to influence 

the behaviour of others 

90. "Cone of Experience" depicts the 

relationship between educational 

expe-riences and real-life. Who 

among the following proposed the 

"cone of experience" ?  

(A) Edgar Dale (B) Jerome Bruner 

(C) John Dewey (D)None of these 

 

LkaLd`r 

funZs’k&¼iz’u 61 ls 68 rd½ fuEufyf[kr x|ka’k 

ifBRok v/kksfyf[krkuka iz’ukuke~ mRrjkf.k nnkrq& 

ljnkj oYyHkHkkbZ&iVsyL; tUe xqtjkr izkUrL; 

djnukeds xzkes 31 vDVwcj] 1875 bZloh;s 

vHkor~A vL; izkjfEHkd&f’k{kk ufM;kn&uxjL; 

fo|ky;s vHkor~A okDdhy&ijh{kke~ mRrh;Z v;a 

fof/k’kkL=L; v/;;uk; baXyS.M&fLFkrs 

fefMk&VSfEiyukeds fo|ky;s izfo"Voku~A 1931 

bZloh;s vgenkckns odkyrdk;Za izkjC/ke~A vuUrja 

1924 bZloh;s v;a okjnksyh&xzkes ^LojkT;&vkJeL; 

LFkkiuka d`rokuA* djfojksf/kue~ vkUnksyua d`"kdk.kka 

lg;ksxsu p d`roku~A 

   Lodh;S% n`<fl)kUrS% v;a ^ykSgiq:"k%* bfr 

ukEuk fo[;kr% vHkor~A izk;’k% 600 ifjferkfu 

jkT;kfu ¼fj;klr½ v= Hkkjrs vklu~A rs"kka 

foy;dk;sZ vL; egkHkkxL; egr~ ;ksxnkua orZrsA 

LorU=rk;k% vkUnksyus egkReuk xkfU/kuk lg 

'kjhjs.k eulk p lg;ksxh vHkor~A iVsy% 

vR;Ur&nwjn’khZ] Li"VoDrk p vklhr~A vr% 

HkkjrL; izFke% mi&iz/kkuea=h vHkwr~A  

61- mi;qZDrL; x|ka’kL; 'kh"kZdaa Hkforqa 'kD;rs& 

(A) egkRek xkfU/k%  
(B) ljnkj oYyHkHkkbZ&iVsy 
(C) };eso  
(D) u fdefiA 

62- djfojksf/k&vkUnksyua dq"kdk.kka lg;ksxsu ;% 

d`roku& 

(A) egkRek xkfU/k% (B) oYYHkHkkbZ&iVsy% 
(C) tokgjyky usg:(D) u d% vfiA 

63- fj;klrkuka Hkkjrs foy;s ;L; egr~ ;ksxnkue~ 

vfLr& 

(A) egkRek xkfU/k%  
(B) tokgjyky usg: 
(C) ykycgknqj 'kkL=h 
(D) oYyHkHkkbZ&iVsy%A 
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64- ljnkj oYyHkHkkbZ&iVsyL; tUe dq= 

vHkor~& 

(A) baXyS.Ms  (B) vgenkckns 
(C) djn&xzkes  (D) vgenkcknsA 

65- iVsyL; izkjfHed&f’k{kk ;= tkrk& 

(A) ufM;kn&uxjs (B) djn&xzkes 
(C) baXyS.M&ns’ks (D) vgenkcknsA 

66- odkyr&dk;Za dnk izkjC/ke~\ 

(A) 1913 bZloh;s (B) 1924 bZloh;s 
(C) 1875 bZloh;s (D) 1934 bZloh;sA 

67- 1924 bZloh;s iVsy% dL; LFkkiuka d`roku~\ 

(A) LorU=rk&vkUnksyuL; 

(B) odkyr&dk;ZL; 
(C) LojkT;&vkJeL;  
(D) ufM;kn&uxjL;A 

68- Lodh;S% n`<+fl)kUrS% iVsy% dsu ukEuk 

fo[;kr%\ 

(A) ykSgiq:"k% bfr  (B) Lo.kZIkq:"k% bfr 
(C) e;kZnkiq:"k% bfr (D) otziq:"k% bfrA 

funZs’k&¼iz’u 69 ls 75 rd½ v/kksfyf[krku~ 'yksdku~ 

ifBRok vxzs fyf[krkuka iz’ukuke~ mRrjkf.k nnkrq& 

dkO;’kkL=fouksnsu dkyks xPNfr /kherke~A 

O;lusu p ew[kkZ.kka funz;k dygsu okA 

yksHkkr~ Øks/k% izHkofr yksHkkr~ dke% iztk;rsA 

yksHkkr~ eksg’p uk’k’p yksHk% ikiL; dkj.ke~AA 

u df’pr~ dL;fpfUe=a u df’pr~ dL;fpfnziq%A 

O;ogkjs.k fe=kf.k tk;Urs fjioLrFkkAA 

R;tsnsda dqyL;kFkZs xzkeL;kFkZs dqya R;tsr~A 

xzkea tuinL;kFkZs LokRekFksZa i`fFkoha R;tsr~AA 

69- fe=kf.k fjio% p ;su tk;Urs \ 

(A) yksHkkr~  (B) O;ogkjs.k 
(C) eksgsu  (D) dygsuA 

70- tuinL; vFkZsa da R;tsr~\ 

(A) ,da tue~ (B) dqye~ 
(C) xzkee~  (D) i`fFkohe~A 

71- ^O;lusu* vfLeu~ ins dk foHkfDr% fda p 

opue~\ 

 (A) r`rh;k] ,dopue~  
(B) r`rh;k] cgqopue~ 
(C) iapeh] ,dopue~  
(D) lIreh],d opue~A 

72- ^xzkeL;kFksZ* bfr ins ;% lfU/k% vfLr& 

(A) nh?kZlfU/k%  (B) xq.klfU/k% 
(C) O;atulfU/k% (D) folxZlfU/k%A 

73- /kherka dky% ;su xPNfr& 

(A) O;lusu  (B) dkO;’kkL=fouksnsu 
(C) funz;k  (D) dkygsuA 

74- ew[kkZ.kka le;% dFka xPNfr \ 

(A) funz;k  (B) dygsu 
(C) funz;k dygsu p 
(D) dkO;’kkL=fouksnsuA 

75- yksHkkr~ fda u Hkofr\ 

(A) Øks/k%  (B) dke% 
(C) eksg%  (D) iq.;e~A 

76- dfBu’kCnkuke~ mPpkj.kkH;kl% dnk Hkofr\ 

(A) iz’uksRrj&le;s  
(B) vuqdj.k&okpuL; i'pkr~ 
(C) vkn’kZokpuL; i'pkr~    
(D) Li"Vhdj.kL; i'pkr~A 

77- Hkk"kk;k% lEcU/k% ;su lg Hkofr& 

(A) ekuoL; àn;su lg 

(B) ekuoL; okX;U=s.k lg 
(C) }kH;ka lg   
(D) u dsu vfi lgA 

78- izkphudkys xq#% Lo&f’k";ku~ dsu fof/kuk 

f’k{k;fr Le\ 

(A) vkxeu&fof/kuk  
(B) O;k[;ku&fof/kuk 
(C) vuqlU/kku&fof/kuk  
(D) Ikz;ksx’kkyk&fof/kukA 

79- Js"B&ewY;kaduL; xq.k% vfLr& 

(A) oLrqfu"Brk (B) fo’oluh;rk 
(C) oS/krk  (D) mi;qZDrk% lokZ%A 
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80- O;kdj.k&f’k{kka ljyhdj.kk; ;% mik;% 

vfLr& 

(A) ekr`Hkk"k;k lg rqyuk 

(B) lw=k.kka jVua 
(C) izfrfnua O;kdj.kL; ikBue~  
(D) u d% vfiA 

81- Nk=k.kke~ mPpkj.k&nks"ka nwjhdj.kk; 

Hkk"kkf’k{kd% Hkk"kkfoKkuL; dfLeu~ foKkus 

ikjaxr% Hkw;kr~& 

(A) :IkfoKkus   
(B) /ofufoKkus 
(C) okD;foKkus  
(D) vFkZfoKkusA 

82- laLd`rs ewY;kadu&iz;kstue~ vfLr& 

(A) fo"k;KkuL; ijh{k.ke~   
(B) vfxzek;ka d{;k;ka ØeksUufr% 
(C) Hkk"kka izfr #fptkxj.ke~   
(D) fyis% lE;d~ Kkue~A 

83- Nk=% Lo&àn;L; fopkjku~ d;k Hkk"k;k 

ljyr;k izdVhadrqZa leFkZa% Hkofr\ 

(A) izkUrh;&Hkk"k;k  
(B) jktHkk"k;k 
(C) vUrjkZ"Vªh;&Hkk"k;k  
(D) ekr`Hkk"k;kA 

84- Nk=% dfLeu~ dk;Zs vf/kdka :fpa n’kZ;fr\ 

(A) ys[kus   
(B) iBus 
(C) fp=s"kq jkxHkj.ks  
(D) mi;qZDrs"kq f="kq ,oA 

85- ikBksIkjkUr&ewY;kadue~ vfLr& 

(A) ikBL; ikBukr~ iwoZL;     
(B) iBr% ikBL; 
(C) ikBL; ikBukr~ vuUrjL;  
(D) vU;L;A 

86- Js"B&f’k{k.kk; dL;k% egRoa orZrs& 

(A) ikBL;   
(B) v/;kidL; 

 (C) bdkbZ&;kstuk;k% 
(D)fu;kstu&izfØ;k;k%A 

87- Jqrys[kL; dk mi;ksfxrk orZrs \ 

(A) gLrys[kL; 'kksHkuk;   
(B) d{;k;k% fu;U=.kk; 
(C) orZuhxrk;k% v’kq)s% fuokj.kk;  
(D) fyf[kra dk;Za dj.kk;A 

88- ekSu&okpuL; vH;kl% HkforO;%& 

(A) ;nk&dnk   
(B) vfu;fer:Iks.k 
(C) jkf=&le;s  
(D) fu;fer:is.kA 

89- Nk=s Hkk"kk&fodklsu lg Hkk"kkf’k{k.ks ;L; 

vko’;drk vfLr& 

(A) ifjorZuL;  
(B) fLFkjrk;k% 
(C) vuq’kkluL;  
(D) vH;klL;A 

90- Lkewfgd&okpus ikBL; izFkea okpua djksfr& 

(A) v/;kid%   
(B) lewgL; usrk 
(C) lewgL; Nk=%  
(D) losZ Nk=k%A  
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MATHEMATICS 
91. When introducing trigonometry a 

teacher writes all the formulae on 

the board before preceding any 

process further. This reflects that he 

is following the. 

(A) Deductive approach   

(B) Inductive approach 

(C) Practical approach    

(D) Experimental approach 

92. Giving assignments in mathematics 

to the student is a................... 

(A) Technique (B) Material 

(C) Principle of teaching   

(D) Maxim of teaching 
93. In which of the following methods 

child himself attains the knowledge of 

some formula or principle with the 

help of facts, examples and experim-

ents ? 

(A) Demonstration method   

(B) Lecture method 

(C) Inductive method    

(D) Deductive method 

94. "The act of combining separate 

parts." This method  is calted.  

(A) Analytic Method     

(B) Synthetic Method 

(C) Laboratory Method    

(D) Project Method 

95. The maximum success of remedial 

teaching depends on. 

(A) time and duration    

(B) the correct identification of 

causes of problem. 

(C) Knowledage of linguistic rules  

(D) remedial teaching materials 
96. "Mathematics is the mirror of civilizat-

ion and culture." This statement is said 

by. 

(A) Bacon  (B) Berthelot 

(C) Hogben           

 (D) Bertrand Russel 

xf.kr 

91- tc f=dks.kfefr ls ifjp; djk;k tkrk gS] 

rks ,d v/;kid vkxs fdlh Hkh izfØ;k ls 

igys cksMZ ij lHkh lw=ksa dks fy[krk gSA ;g 

n'kkZrk gS fd og fuEufyf[kr dk ikyu dj 

jgk gS% 

(A) fuxeukRed n`f"Vdks.k    

(B) vkxeukRed n`f"Vdks.k 

(C) izk;ksfxd n`f"Vdks.k    

(D) O;kogkfjd n`f"Vdks.k 

92- xf.kr esa fo|kFkhZ dks dk;Z nsuk ,d gSA 

(A) rduhd   

(B) lkexzh 
(C) f'k{k.k dk fl)kUr 

(D) f'k{k.k ds eSfDle 

93- fuEufyf[kr esa ls fdl fof/k esa cPpk Lo;a 

rF;ksa] mnkgj.kksa vkSj iz;ksxksa dh lgk;rk ls 

fdlh lw= ;k fl)kar dk Kku izkIr djrk 

gS\ 

(A) izn'kZu fof/k  

(B) O;k[;ku fof/k 
(C) vkxeukRed fof/k  

(D) fuxeukRed fof/k 

94- ^^vyx&vyx Hkkxksa dks tksM+uk** ;g 

fl)kUr dgykrk gS 

(A) fo'ys"k.k fof/k (B) la'ys"k.k fof/k 
(C) iz;ksx'kkyk fof/k (D) ifj;kstuk fof/k 

95- mipkjkRed f'k{k.k dh lokZf/kd lQyrk 

fuHkZj djrh gS 

(A) le; o vof/k ij    

(B) leL;k ds dkj.kksa dh lgh igpku ij 
(C) Hkk"kkbZ fu;eksa ds Kku ij   

(D) mipkjkRed f'k{k.k lkexzh ij 

96- ^^xf.kr lH;rk vkSj laLd`fr dk niZ.k gSA** 

;g dFku fdlus dgk \ 

(A) csdu  (B) cFkZykWV 
(C) gkWxcsu  (D) cVªsZ.M jlSy 
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97. For multiplication of two decimal 

numbers, such as 0.4x0.2 = 0.08, an 

appropriate teaching – learning tool 

to explain the concept is - 

(A) Dienesblock (B) Number chart 

(C) Abacus  (D) Graph paper 

98. Arrange in correct order the steps of 

evaluation in mathematics: 

1. Identification of situations   

2. Selection of objectives 

3. Selection of evaluation methods 

4. Interpretations of evidences   

5.Constructions of evaluation 

devices. 

 (A) 2] 1] 3] 5] 4 (B) 2] 3] 1] 5] 4 

(C) 2] 3] 5] 4] 1 (D) 3] 2] 4] 5] 1 

99. Which of the following statements 

is in agreement with the construct-

ionist view of Mathematics ? 

(A) Mathematics is about learning 

facts.    

(B) Mathematicians are required to 

discover the Truth 

(C) Mathematics is entirely 

objective.  

(D) Visualisation is an import aspect 

of Mathematics 

100. Form of supervised study is: 

(A) Conference Plan    

(B) Special teacher plan 

(C) Divided period plan    

(D) All of these 

101. The role of proportional reasoning 

in understanding the concept related 

to ratio and proportion was 

highlighted by -  

(A) Zoltan Dienes  (B) Jean Piaget 

(C) Lev Vygotsky  (D) Van Hiele 

102. Naturalism is on the ................basis 

of curriculum construction. 

(A) Psychological   (B) Sociological 

(C) Philosophical    (D) Scientific 

97- Nks n'keyo la[;kvksa dk xq.ku tSls 0-4 x 

0-2 = 0-08 dh ladYiuk dks le>kus ds 

fy, mfpr f'k{k.k&vf/kxe lk/ku gS 

 (A) Mk;ful CykWd (B) la[;k pkVZ 

 (C) fxurkjk   (D) xzkQ isij  

98- xf.kr esa ewY;kadu ds lksikuksa dk lgh Øe 

crk,¡%  

1- ifjfLFkfr;ksa dh igpku 

2- mís';ksa dk p;u 

3- ewY;kadu fof/k;ksa dk p;u 

4- izek.kksa dh O;k[;k 

5- ewY;kadu izfof/k;ksa dk fuekZ.k 

 (A) 2] 1] 3] 5] 4 (B) 2] 3] 1] 5] 4 

 (C) 2] 3] 5] 4] 1 (D) 3] 2] 4] 5] 1  

99- fuEufyf[kr esa ls dkSu ls dFku dh lgefr 

xf.kr ds lajpukRed ¼jpukoknh n`f"Vdks.k½ 

ls dh tk ldrh gS\ 

 (A) xf.kr rF;ksa dks lh[kus ds ckjs esa gSA  

 (B) xf.krKksa ls lPpkbZ ds vfo"dkj 

visf{kr gksus pkfg,A  

 (C) xf.kr iw.kZr;k fo"k;ijd gSA   

 (D) ekuln'kZu xf.kr dk egRoiw.kZ igyq 

gSA  

100- i;Zosf{kr v/;;u ds :i gS% 

 (A) lEesyu ;kstuk  

 (B) fo'ks"k f'k{kd ;kstuk 

(C) foHkkftr vof/k dh ;kstuk   

(D) ;s lHkh 

101- vuqikr vkSj lekuqikr izR;; dks le>us ds 

fy, vkuqikfrd foospu dh Hkwfedk dks 

mtkxj fd;k Fkk& 

 (A) tksYVu Mkbul us  (B) thu fi;kts us 

(C) yso ok;xksRldh us  (D) oSu ghy us  

102- izd`frokn] ikB~;Øe fuekZ.k ds----------dk 

vk/kkj gSA 

 (A) euksoSKkfud  

 (B) lekt'kkL=h; 

(C) nk'kZfud  (D) osSKkfud 



 

 

17 

103. "Mathematics is the mirror of 

civiliza-tion." This statement corre-

sponds to which value of maths ?  

(A) Cultural (B) Disciplinary 

(C) Social        (D) All of the above 

104. The organization of content in the 

textbook of Mathematics should be. 

(A) According to teacher   

(B) According to curriculum 

(C) According to students   

(D) None of these 

105. The ground of race means. 

(A) Education Chronicle 

(B) Curriculum 

(C)Education chronicle and syllabus 

(D) None of these 

106. Number of seconds in 6 hours is 

equal to the number of minutes 

in............... 

(A) 15 days  (B) 16 days 

(C) 10 days  (D) 12 days 

107. The ratio of two numbers is 7:8 and 

their HCF is 6, Find their LCM. 

(A) 330  (B) 230 

(C) 252  (D) 336 

108. Find the least value of a for which 

7659a31 is divisible by 3. 

(A) 0   (B) 1        (C) 2     (D) 3 

109. The amount of alcohol in two 

different wines is 44% and 20% 

respectively. In what ratio should 

they have mixed so that the amount 

of alcohol in the new mixture is 

30% ? 

(A) 5 : 7  (B) 7 : 5 

(C) 2 : 3  (D) 5 : 9 

110. 6457-? = 4523 - 3421 

(A) 5355  (B) 7446 

(C) 7331  (D) 7000 

111. Find the smallest Fraction. 

(A) 
5

50
  (B) 

3

300
 (C) 

9

1000
 (D) 

500

10000
 

103- ^xf.kr lH;rk dk niZ.k gSA* ;g dFku 

xf.kr ds fdl ewY; ls esy [kkrk gS\ 

 (A) lkaLd`frd  (B) vuq'kklukRed 

(C) lkekftd  (D) mi;qZDr lHkh 

104- xf.kr dh ikB~;iqLrd esa lkexzh dk laxBu 

gksuk pkfg,& 

 (A) f'k{kd ds vuqlkj 

 (B) ikB~;Øe ds vuqlkj 

(C) Nk=ksa ds vuqlkj    

(D) buesa ls dksbZ ugha 

105- nkSM+ ds eSnku ls vfHkizka; gS% 

 (A) f'k{kkØe  (B) ikB~;Øe 

 (C) f'k{kk ,oa ikB~;Øe  

 (D) buesa ls dksbZ ugha  

106- 6 ?kaVs esa lsdaM dh la[;k---------esa feuVksa 

dh la[;k ds cjkcj gSA 

 (A) 15 fnu  (B) 16 fnu 

 (C) 10 fnu  (D) 12 fnu   

107- nks la[;kvksa dk vuqikr 7%8 gS vkSj mudk 

e-l- 6 gS] mudk y-l- Kkr dhft,A 

 (A) 330  (B) 230 

(C) 252  (D) 336 

108- a dk U;wure eku Kkr djsa ftlds fy, 

7659a31, 3 ls foHkkT; gS 

 (A) 0     (B) 1      (C) 2 (D) 3  

109- nks vyx&vyx okbu esa vYdksgy dh ek=k 

Øe'k% 44% vkSj 20% gSA mUgsa fdl 

vuqikr esa feyk;k tkuk pkfg, rkfd u, 

feJ.k esa vYdksgy dh ek=k 30% gks \ 

 (A) 5 % 7  (B) 7 % 5 

(C) 2 % 3  (D) 5 % 9 

110- 6457&\ = 4523&3421 

 (A) 5355  (B) 7446 

(C) 7331  (D) 7000 

111- lcls NksVk fHkUu Kkr dhft,A 

 (A) 
5

50
   (B) 

3

300
    

 (C) 
9

1000
    (D) 

500

10000
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112. The number of points present on a 

straight line is- 

(A) 0   (B) 2 

(C) 1   (D) Infinite 

113. If the diameter of circle is 14 cm, 

what is the area (in 𝑐𝑚2 ) of the 

circle ? 

(A) 150  (B) 154 

(C) 158  (D) 162 

114. The area of a trapezium is 25 𝑐𝑚2 

and perpendicular distance between 

its parallel sides is 4 cm. If 

difference between its parallel sides 

is 2 cm then what is their sum ? 

(A) 10 cm  (B) 11 cm 

(C) 12 cm  (D) 14 cm 

115. 676 x 423 + 676 x 577 = ? 

(A) 576000  (B) 476000 

(C) 676000  (D) 276000 

116. (7 − 9 + 15)0 = ? 

(A) 0      (B) 1          (C) -1 (D) ∞ 

117. What should be subtracted from the 

sum of 8008, 8088 and 8808 to 

obtain 17863 ? 

(A) 7041   (B) 7141   

(C) 6121    (D) 6131 

118. The ratio of supplementary angle is 

2 : 3, then find the angle. 

(A) 300, 450 (B) 360, 540 

(C) 720, 1080 (D) 660, 1140 

119. If 
𝑥

5
 = 

4

8
 ,then the value 

𝑥+5

𝑦+8
 of is 

equal to: 

(A) 
7

8
     (B) 

3

5
         

(C) 
5

8
   (D) 

8

5
 

120. Is  0.01 +  0.0064 is equal to: 

(A) 0.03     (B) 0.3     

(C) 0.3 2      (D) 3 

 

 

112- ,d ljy js[kk ij fLFkr fcUnqvksa dh laKk 

gksrh gS& 

 (A) 0   (B) 2 

 (C) 1   (D) vla[;  

113- ;fn o`Ùk dk O;kl 14 lseh gS] rks o`Ùk dk 

{ks=Qy ¼lseh
2

 esa½ D;k gS\ 

 (A) 150    (B) 154    

 (C) 158     (D) 162  

114- ,d leyac prqHkqZt dk {ks=Qy 28 lseh
2 

gS 

vkSj bldh lekukarj Hkqtkvksa ds chp 

yacor nwjh 4 lseh gSA ;fn bldh lekukarj 

Hkqtkvksa ds chp dk varj 2 lseh gS] rks 

mudk ;ksx Kkr djsa\ 

 (A)10lseh(B)11lseh(C)12lseh(D) 14lseh  

115- 676 x 423 + 676 x 577 = ? 

(A) 576000  (B) 476000 

(C) 676000  (D) 276000 

116- (7 − 9 + 15)0 = ? 

(A) 0    (B) 1      (C) -1 (D) ∞ 

117- 17863 ikus ds fy, 8008] 8088 vkSj 

8808 ds ;ksx esa ls D;k ?kVkuk gksxk \ 

(A) 7041  (B) 7141 

(C) 6121  (D) 6131 

118- nks laiwjd dks.kksa dk vuqikr 2 % 3 gS] rks 

dks.kksa dk eki gksxkA 

(A) 300, 450 (B) 360, 540 

(C) 720, 1080 (D) 660, 1140 

119- ;fn  
𝑥

5
 = 

4

8
 gks] rks 

𝑥+5

𝑦+8
 dk eku D;k gksxk 

\ 

(A) 
7

8
      (B) 

3

5
      

(C) 
5

8
   (D) 

8

5
 

120- Is  0.01 +  0.0064 is equal to: 

(A) 0.03     (B) 0.3   

(C) 0.3 2     (D) 3 
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i;kZoj.k v/;;u (EVS) 
121. How can you be an advocate for 

your special child ? 

(A) By going to a law school    

(B) By taking special diploma 

course or training for it 

(C) By asking your elders to take 

care of the child    

(D) By taking care of the child's 

need on different occasion. 

122. Features of school based CCE is - 

(A) It reduces stress on child    

(B) It makes evaluation comprehen-

sive and regular 

(C) It provide a tool that do 

detection and correction of 

active   

(D) All of the above. 
123. Objectives of teaching EVS at primary 

level is. 

(A) To arouse the interest of Children 

in study of nature  

(B) To develop creative skills among 

children. 

(C) To make children understand 

sinple graphs, maps and flow-

charts 

(D) All of the above 

124. A teacher start a class by asking 

"have you seen mango" ? 

He is doing ........................... 

(A) Assessment of learning   

(B) Assessment for learning. 

(C) Both (A) and (B)    

(D) None of the above 
125. Which of the following is a feature of 

summative assessment ? 

(A) It can be done at the end of a unit 

or semester     

(B) It summarizes the development of 

student 

(C) It is conventional way of assessing 

student's work    

(D) All of the above 

i;kZoj.k v/;;u (EVS) 
 

121- vk; vius fo'ks"k cPps ds fy, vfHkoDrk 

dSls gks ldrs gSa\ 

(A) ,d fof/k fo|ky; esa tkdj    

(B)blds fy, fo'ks"k fMIyksek dkslZ ;k 

izf'k{k.k ysdj 

(C) vius cM+ksa ls cPpksa dh ns[kHkky djus dks 

dgdj    

(D) fofHkUu voljksa ij cPps dh vko';drkvksa 

dk /;ku j[kdj  

122- Ldwy vk/kkfjr lh-lh-bZ- dh fo'ks"krk,a gSa& 

(A) ;g cPps ds ruko dks de djrk gSA  

(B) ;g ewY;kadu dks O;kid vkSj fu;fer 

cukrk gSA 

(C) ;g ,d midj.k iznku djrk gS tks lfØ; 

dh igpku vkSj lq/kkj djrk gS  

(D) mijksDr lHkh  

123- izkFkfed Lrj ij bZ-oh-,l- i<+kus dk mís'; gS% 
(A) izkd`frd v/;;u esa cPpksa dh :fp 

txkuk  

(B) cPpksa esa jpukRed dkS'ky fodflr djuk 

(C) cPpksa dks ljy js[kkadu] uD'ks vkSj 

¶ykspkVZ le>kukA    

(D) mi;qZDr lHkh 

124- ,d f'k{kd us ^^D;k vkius vke ns[kk gS** 

iwNdj ,d d{kk dh 'kq:vkr dh \ 

og--------------dj jgk gSA 

(A) vf/kxe dk ewY;kadu    

(B) vf/kxe ds fy, ewY;kadu 

(C) nksuksa (A) vkSj (B)     

(D) mijksDr esa ls dksbZ ugha  

125- fuEu esa ls dkSu&lh ;ksxkRed ewY;kadu dh 
fo'ks"krk gS\ 

(A) ;g ,d ;wfuV ;k lsesLVj ds var esa 

fd;k tk ldrk gSA    

(B) ;g Nk= ds fodkl dks lkjkaf'kr djrk gS 

(C) ;g Nk= ds dk;Z dk vkadyu djus dk ,d 

ikjaifjd rjhdk gS     

(D) mijksDr lHkh   
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126. Which of the following must be a 

part of a primary EVS classroom ? 

(A) Pet animals  

(B) Various plants 

(C) Charts   

(D) Puzzles 

127. Neha engages her students in 

various group activities such as 

groub discussion, group projects etc, 

which learning dimension is she 

following ? 

(A) learning as a social activity  

(B) Competition based learning 

(C) Langauge guided learning  

(D) Learning through recreation 

128. Among the following technique 

which is not used, by a teacher in 

teaching learning process ? 

(A) Real-life examples    

(B) Role-play activities 

(C) Problem solving    

(D) Reading textbook activites 

129. What is the main quality of 

assignment in EVS ? 

(A) It keeps the student busy    

(B) Student becomes able to revise 

the lesson thoroughly 

(C) It provides an extended learning 

opportunity   

(D) It provides a good  utilization of 

time. 

130. Which is the principal of learning 

Environment study. 

(A) Principle of necessity   

(B) Principle of ulility 

(C) Principle of relationship with 

life  

(D) All of the above 
 

 

 

126- fuEufyf[kr esa ls dkSu ,d izkFkfed bZoh,l 
d{kk dk fgLlk gksuk pkfg, \ 

(A) ikyrw tkuoj  

(B) fofHkUu ikS/ks 

(C) pkV Z    

(D) igsfy;k¡  

127- usgk vius Nk=ksa dks lewg ppkZ] lewg 

ifj;kstukvksa vkfn tSlh fofHkUu lewg 

xfrfof/k;ksa esa layXu djrh gSA og fdl 

vf/kxe vk;ke dk vuqlj.k dj jgh gS\ 

(A) ,d lkekftd xfrfof/k ds :i esa 

vf/kxe  

(B) izfr;ksfxrk vk/kkfjr vf/kxe 

(C) Hkk"kk funsZf'kr vf/kxe    

(D) euksjatu ds ek/;e ls vf/kxe 

128- fuEu esa ls dkSu lh rduhd v/;kiu&f'k{k.k 

izfØ;k esa ,d f'k{kd }kjk iz;ksx ugha dh 

tkrh gS\ 

(A) okLrfod thou ds mnkgj.k    

(B) jksy&Iys xfrfof/k;k¡ 

(C) leL;k gy djuk    

(D) ikB~;iqLrd i<+us dh xfrfof/k;k¡  

129- bZoh,l ds dk;Z dh eq[; xq.koÙkk D;k gS\ 
(A) ;g Nk= dks O;Lr j[krk gS   

(B) Nk= vPNh rjg ls nksgjkus ds fy, l{ke 

gks tkrk gS 

(C) ;s lh[kus dk volj iznku djrk gS  

(D) ;g le; dk ,d vPNk mi;ksx iznku 

djrk gS  

130- i;kZoj.k v/;;u ds vf/kxe dk fl)kUr 

dkSu&lk gS\ 

(A) vko';drk dk fl)kUr    

(B) mi;ksfxrk dk fl)kUr 

(C) thou ls lEcfU/kr gksus dk fl)kUr  

(D) mijksDr lHkh 
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131. Which state is benefited by Indira 

Gandhi canal Project ? 

(A) Kerala   

(B) Uttar Pradesh 

(C) Rajasthan    

(D) Madhya Pradesh 

132. Which of the following is an inter 

national airport of MP ? 

(A) Jhansi International Airport  

(B) Indira Gandhi International 

Airport 

(C) Devi Ahilyabai Holkar Airport  

(D) Gwalior Airport 

133. Which of the following dance is 

started by Jhela ? 

(A) Gangaur (B) Matki 

(C) Ahirai  (D) Baredi 

134. Sanchi Stupa is in which district of 

Madhya Prodesh. 

(A) Bhopal  (B) Raisen 

(C) Indore  (D) Ujjain 

135. How many Janpad Panchayats are 

there in MP? 

(A) 300 (B) 287  (C) 313   (D) 48 
136. Which among the following is a sac-

like organ with strong muscular walls 

that helps in digestion process ? 

(A) Liver  (B) Stomach 

(C) Anus  (D) Pancreas 

137. People living in coastal areas mostly 

eat. 

(A) Wheat, pulses and rice   

(B) Maize and Bajra 

(C) Rice, meat of Goat    

(D) Fish and Rice 

138. Jhoom Farming is perforned 

in............. 

(A) Uttar Pradesh (B) Uttarakhand 

(C) Delhi  (D) Mizoram 

139. The study of living organisms with 

the environment is known as............ 

(A) Ecosystem (B) Environment 

(C) Community (D) Ecology 

131- bafnjk xka/kh ugj ifj;kstuk dk ykHk fdl 

jkT; dks fey jgk gS\ 

(A) dsjy  (B) mÙkj izns'k 

(C) jktLFkku  (D) e/;  izns'k 

132- fuEufyf[kr esa ls dkSu lk e/; izns'k dk 

varjkZ"Vªh; gokbZ vM~Mk gS\ 

(A) >kalh varjkZ"Vªh; gokbZ vM~Mk   

(B) bafnjk xka/kh varjkZ"Vªh; gokbZ vM~Mk 

(C) nsoh vfgY;kckbZ gksYdj ,;jiksVZ   

(D) Xokfy;j gokbZ vM~Mk 

133- fuEufyf[kr esa ls dkSu&lk u`R; ^>syk* }kjk 
'kq: fd;k x;k gS\ 

(A) x.kxkSj  (B) eVdh 

(C) vfgjkbZ  (D) ckjnh  
 

134- lkaph Lrwi e/;izns'k ds fdl ftys esa gS\ 
(A) Hkksiky  (B) jk;lsu 

(C) bankSj   (D) mTtSu  

135- e/; izns'k esa fdruh tuin iapk;rs gSa\ 
(A) 300  (B) 287    (C) 313(D) 48  

136- fuEufyf[kr esa ls dkSu lk ,d etcwr ekaly 
fHkfÙk okyk FksSyh&uqek vax gS tks ikpu fØ;k 

esa lgk;rk djrk gS \ 

(A) ;d`r  (B) isV 

(C) xqnk   (D) vXuk'k;  

137- rVh; bykdksa esa jgus okys yksx vf/kdka'k-----

---[kkrs gSaA  

(A) xsagw] nky vkSj pkoy     

(B) eDdk rFkk cktjk 

(C) pkoy] cdjh dk ekal    

(D) eNyh rFkk pkoy  

138- >we [ksrh---------esa dh tkrh gSA 
(A) mÙkj izns'k  (B) mÙkjk[kaM 

(C) fnYyh  (D) fetksje  

139- i;kZoj.k ds lkFk jgus okys thoksa ds v/;;u 

dks -------------ds :i esa tkuk tkrk gSA 

(A) ikfjfLFkfrd ra=  (B) i;kZoj.k 

(C) leqnk;   

(D) ikfjfLFkfrdh  
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140. Who discovered the dwarf planet 

pluto ? 

(A) Mike Brown 

(B) Clyde Tombaugh 

(C) Stephen Hawking     

(D) Jardan Peterson 

141. Madhubani paintings use which of 

the following thing to glorify their 

painting ? 

(A) Gold dust  

(B) Silver dust 

(C) Rice flour paste    

(D) Glue derived by plants 

142. Which of the following vitamin is 

Generally known as Ergocalciferol ? 

(A) Vitamin D2 (B) Vitamin D5 

(C) Vitamin B6 (D) Vitamin B2 

143. Which among the following Union 

Territory has a High Court of its 

own ? 

(A) Lakshdweep  

(B) Andaman and Nicobar 

(C) Chandigarh  

(D) Delhi 

144. Which of the following is Rabi crop 

? 

(A) Sugarcane (B) Maize 

(C) Cotton  (D) Wheat 

145. Proton was discovered by ? 

(A) Thomson  

(B) Colt 

(C) Chadwick  

(D) Rutherford 

146. Ozone layer is found between - 

(A) Stratospher and troposphere  

(B) Troposphere and Mesosphere 

(C) Stratosphere and Mesosphere  

(D) None of the above 

147. Which of the following pulse has 

low carb rate ? 

(A) Arhar  (B) Moong 

(C) Masoor  (D) Chana 

 

140- ckSus xzg IywVks dh [kkst fdlus dh Fkh\ 
(A) ekbd czkmu  

(B) DykbM VkWeckW 

(C) LVhy   

(D) tkWMZu ihVjlu  

141- e/kqcuh fp=ksa esa fuEu esa ls fdl pht dk 
mi;ksx fp=ksa dks lqUnjrk iznku djus ds fy, 

fd;k tkrk gSA 

(A) lksus dh /kwy  

(B) pk¡nh dh /kwy 

(C) pkoy ds vkVs dk ysi    

(D) ikS/kksa }kjk izkIr xksan  

142- fuEu esa ls fdl foVkfeu dks vkerkSj ij 

,xksZdsYlhQsjksy ds :i esa tkuk tkrk gS\ 

(A) foVkfeu D2 (B) foVkfeu D5  

(C) foVkfeu B6 (D) foVkfeu B2   

143- fuEu esa ls fdl dsanz 'kkflr izns'k dk viuk 

mPp U;k;ky; gS\ 

(A) y{k}hi       

(B) vaMeku vkSj fudkscj 

(C) paMhx<+   

(D) fnYyh  

144- jch dh Qly fuEu esa ls dkSu lh gS\ 
(A) xUuk  (B) eDdk 

(C) dikl  (D) xsgaw  

145- izksVksu dh [kkst fdlus dh Fkh \ 
(A) FkkWelu  (B) dkWYV 

(C) pSMfod  (D) jnjQksMZ  

146- vkstksu ijr fduds chp ikbZ tkrh gS\ 

(A) lerki eaMy vkSj {kksHkeaMy   

(B) {kksHkeaMy vkSj e/;eaMy 

(C) lerki eaMy vkSj e/;eaMy   

(D) mijksDr esa ls dksbZ ugha  

147- fuEu esa ls fdy nygu dk dkcZ jsV fuEu 
gS\ 

(A) vjgj  (B) eawx 

(C) elwj   (D) puk  
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148. Which separation technique is used 

for separating edible part from the 

husk ? 

(A) Winnowing  

(B) Threshing  

(C) Filtration  

(D) Manual Separation 

149. Which one of the following is the 

guardian of Fundamenlal Rights ? 

(A) Judiciary  

(B) Executive 

(C) Legislature  

(D)Political parties 

150. Where is the west central Railway 

zone of India located ? 

(A) Bilaspur  

(B) Jabalpur 

(C) Hubli   

(D)Bhubaneshwar 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

148- Hkwlh ls [kk| Hkkx dks vyx djus ds fy, 

fdl rduhd dk mi;ksx fd;k tkrk gS\ 

(A) vkslkbZ   

(B) xkguk 

(C) Nkuuk   

(D) gkFk ls vyx djuk 

149- fuEu esa ls dkSu lk ekSfyd vf/kdkjksa dk 

laj{kd gS\ 

(A) U;k;ikfydk   

(B) dk;Zdkjh 

(C) fo/kkueaMy   

(D) jktuhfrd ny  

150- Hkkjr dk if'pe e/; jsyos {ks= dgk¡ fLFkr 
gS\ 

(A) fcykliqj   

(B) tcyiqj 

(C) gqcyh   

(D) Hkqous'oj  
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                     MPTET ANSWERS             Date – 16/01/2022 

1 B 21 A 41 A 61 C 81 D 101 B 121 D 141 C 

2 C 22 D 42 D 62 B 82 C 102 C 122 D 142 A 

3 D 23 B 43 B 63 B 83 C 103 A 123 D 143 D 

4 C 24 A 44 D 64 A 84 B 104 B 124 B 144 D 

5 B 25 A 45 C 65 B 85 B 105 B 125 D 145 D 

6 A 26 C 46 D 66 C 86 D 106 A 126 B 146 C 

7 C 27 C 47 A 67 A 87 D 107 D 127 A 147 B 

8 C 28 D 48 D 68 C 88 A 108 C 128 D 148 B 

9 A 29 A 49 A 69 D 89 D 109 A 129 C 149 A 

10 C 30 B 50 A 70 B 90 A 110 A 130 C 150 B 

11 B 31 B 51 C 71 D 91 A 111 C 131 C   

12 B 32 A 52 D 72 A 92 A 112 D 132 C   

13 A 33 B 53 C 73 A 93 C 113 B 133 B   

14 C 34 A 54 D 74 B 94 B 114 D 134 B   

15 D 35 D 55 A 75 A 95 B 115 C 135 C   

16 B 36 B 56 A 76 B 96 C 116 B 136 B   

17 B 37 B 57 A 77 D 97 D 117 A 137 D   

18 B 38 B 58 A 78 C 98 A 118 C 138 D   

19 C 39 C 59 C 79 C 99 D 119 C 139 D   

20 D 40 B 60 B 80 A 100 D 120 B 140 B   

Hkkx&2 ¼laLd`r½ 

61 B 66 A 71 A 76 C 81 B 86 B 

62 B 67 C 72 A 77 C 82 A 87 C 

63 D 68 A 73 B 78 B 83 D 88 D 

64 C 69 B 74 C 79 D 84 C 89 D 

65 A 70 C 75 D 80 C 85 C 90 A 
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